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13 ( Electrochemistry

Released FRQs

1973 B (Mandatory)

Sn + 2 Ag+  Sn2+ + 2 Ag

(a)
Calculate the standard voltage of a cell involving the system above.

(b)
What is the equilibrium constant for the system above?

(c)
Calculate the voltage at 25˚C of a cell involving the system above when the concentration of Ag+ is 0.0010 molar and that of Sn2+ is 0.20 molar.

1974 B

A steady current of 1.00 ampere is passed through an electrolytic cell containing a 1 molar solution of AgNO3 and having a silver anode and a platinum cathode until 1.54 grams of silver is deposited. 

(a)
How long does the current flow to obtain this de​posit?

(b)
What weight of chromium would be deposited in a second cell containing 1–molar chromium(III) nitrate and having a chromium anode and a platinum cathode by the same current in the same time as was used in the silver cell?

(c)
If both electrodes were platinum in this second cell, what volume of O2 gas measured at standard tempera​ture and pressure would be released at the anode while the chromium is being deposited at the cathode? The current and the time are the same as in (b)

Answer:

(a)  



= 1380 sec.

(b)
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(c)
2 H2O  O2 + 4 H+ + 4e-
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